D x*-6x+9 @ 4x® +16x+ 16
1 1
@x2+—x+— @ x? +2xy+y?
© 7
2, = )
@x+3xy—|—36y

~&B

D x*-6x+9=(x-3)?
@ 4x* +16x+ 16 = (2x + 4)?
@ x% 4 2xy + 1y% = (x + y)?

® 2+ 2 +i2—(x+1>2
AT 6




2.

6xy —8x—9y+ 12 = (ax + b)(cy +d) W a+b+c+d 2 TS
T-SFH?

6xy—8x—9y+ 12 = 2x(3y —4) —-3(3y - 4)
=(2x-3)3y-4)
SLa+b+c+d=-2
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4.

(2a — 3b)? - (4a — 5b)? = 4(ma + nb)(b — pa) & W, mn - p °| G
ToFH?

O -11 @ 13 <§§>—13 @ 11 ® -2

B ~
2a—3b =X, 4a—-5b =Y 2 x| &olH
X2-y?=(X+Y)(X-Y)
= (2a — 3b + 4a — 5b)(2a — 3b — 4a + 5b)
= (6a — 8b)(-2a + 2b)
= 4(3a — 4b)(b - a)

.m=3, n=-4, p=1
mn—-p=-12-1=-13




5. Ax?436x+B=(2x+C)? oAl G5 A, B, € o & FobH?

® 4 @ 9 ® 81 @ 90 @94

Ax2+36x+B = 4x2+2x2Cx+C2 0]|B2 A =4, B=81,C=9
Sj=3
Wt A+ B+ C =4+81+9=094 o[t}




Vi=a-2 4, Vx—4da+12~ Vx+2a-3 & 7Fds] spi? (,

2<a<4)

D)-2a+5 @ 2a-5 ® 5
@ -2a-3 ® -2a+3

Vi=a-29 FHAES AFNIH x=a*-4a+4
Va2 —8a+ 16 — Va2 —2a + 1

= (a-4)?%- y/(a-1)?

=la-4l-la-1

=-a+4-a+1=-2a+5
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9.

12— dx—a 7} F ARA ) Fog ASBAHL, o] F &
2x+3 2 W, ¢ 2] L2

® -15 @ -6 ® 3 @ 6 )15

B

4x2 —dx—a = (2x + 3) (bx +¢)

= 2bx? + (3b + 2¢)x + 3¢
2b=4, b=2
2c+3b=-4, c=-5
—a=3c=-15, a=15




10. T F (2 +2x)" - 11 (s + 20) + 24 ©] 157F ok 7127

®x+4 @ x+3 @x—l—Q @ x-1 © x-2

B

24+ 2x=A B 25

(A1) = A2-11A+24 = (A - 3) (A - 8) ot}
A

(x> +2x-3) (x> +2x-8)
—(x+3)(x-1)(x-2) (x+4)




11, oh&FA X2 — dxy + 3y - 6x + 2y — 16 = AF=of st HY
(x+ay+0b) (x+cy+d) 7t HA. o|W, a— b+ c—d & 27

@0 @ 1 ©)2 @ 3 ® 4

@ ~
]J)f°} a0 & Ae]sto] la-EafistH
2(2y+3)x+3y2+2y-16
=x>-2(2y+3)x+ (y-2)(3y+8)
=(x-y+2)(x—3y-28)
ca=-1,b=2,¢c=-3,d=-8
“a-b+c-d=2




12. 15x7.62-7.42x%x15 9] 3ke?

@ 55 @ ® 35 @ 15 ® 10

~&B

(£4]) =15 x (7.62 - 7.42)
= 15X (7.6 + 7.4) x (7.6 - 7.4)
=15%x15x%x0.2
=45




13.

te 2702 WSt 7 A5 a,b ol W5k (a-b-1)* 9 &=

a?-2ab+b*=9, 6ab+2=-4, a>b

@1 @4 ®9 @ 16

® 25

B

a?—-2ab+b% =9, 6ab+2= -4, a>b A
ab=-1,a> +b> =7
(a=b)2=a’>+b*-2ab=T7+2=9
La—-b=3

s(a-b-1)2
=a’+b’>+1-2a+2b-2ab
=74+1-2%x3+2=14




14.

a+b=3,ab=1%L M, a®(a-b)+0b*(b-a) o F2?

O 13 (@)15 ® 17 @ 18 ® 20

~&B

(a-b)? =(a+b)’>—4ab=3>-4x1=5
~ (£4) =a®(a-b)-b*(a-Db)
= (a-b) (a* - b?)
= (a—-b)*(a+b)
=5%x3=15




15. 2o 7tz Al27F 42 3x - 1, x - 2y ¢ F-L&HA o Ful7}

3x3 — 7x? — 6x%y + 2x + 14xy — 4y ©|t}. o|uff, o] Z-&HA| 9] =ol&
“FotH?

@x—2 @ x-1 ® x+1

@ x+2 ® 2x+1

~&B

y ol gt WAtz 2 gejstd
)

=-2y(38x* —7x+2) +3x° - Tx* + 2x
= -2y (322 - Tx+2) + x (32® - 7x + 2)
= (x-2y) (3x* - Tx+2)

= (x=2y) B3x-1) (x=2)

w2t Fole x -2 °Jth.




